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1.
.

ABC is a right-angled triangle. AB = 18 cm 
and BC = 6 cm.
The line BD bisects the angle ABC.

(a) Write down the value of tan x.

.........................................

(b) Calculate the length BD.

..................... cm

A

D

CB
x

18 cm

6 cm

(5)

(1)

Diagram NOT 
accurately drawn 
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x

8 cm 

5 .5cm 

Diagram NOT
accurately drawn 

12 cm 

y cm 

40°

Diagram NOT
accurately drawn 

2. Here is a right-angled triangle.

(a) Calculate the size of the angle marked x.
Give your answer correct to 1 decimal place.

x = ...........................°
(3)

Here is another right-angled triangle.

(b) Calculate the value of y.
Give your answer correct to 1 decimal place.

y = ...........................
(3)

(Total 6 marks)
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3. 

PQR is a right-angled triangle.

QR = 3 cm
PR = 10 cm

Work out the size of angle RPQ.
Give your answer correct to 3 significant figures.

......................................
°

(Total 3 marks)

3 cm

10 cm
P

Q

R

Diagram NOT
accurately drawn
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4.  

ABC is a right-angled triangle. 
AB = 7 cm, 
BC = 8.5 cm.

(a)  Work out the area of the triangle.

  ............................. cm2

(2)

(b) Work out the length of AC.
Give your answer correct to 2 decimal places.

  ............................... cm
(3)

Diagram NOT
accurately drawn

7 cm

8.5 cm

A

B C
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DEF is another right-angled triangle. 
DE = 32 mm,  
FE = 48 mm.

(c) Calculate the size of angle y.
Give your answer correct to 1 decimal place.

  ..................................
°

(3)

(Total 8 marks)

  D
Diagram NOT

accurately drawn 

32 mm 

      y

 F   48 mm    E
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5. A

B C
16 cm

6 cm

Diagram NOT

accurately drawn

ABC is a right-angled triangle. 
AC = 6 cm.
BC = 16 cm.

(a) Work out the area of triangle ABC.

  ............................. cm2

(2)

(b) Calculate the length of AB.
Give your answer correct to 2 decimal places.

  ............................... cm
(3)

(Total 5 marks)
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6.  

58°

A

BC

18 m

Diagram NOT

accurately drawn

ABC is a right-angled triangle. 
AC = 18 m.

 Angle CAB = 58°

Calculate the length of AB.
Give your answer correct to 3 significant figures.

 

................................. m

(Total 3 marks)
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7.

ABC is a triangle. 
AB = 8 cm
BC = 15 cm 
Angle ABC = 112°

Calculate the area of the triangle.
Give your answer correct to 3 significant figures.

......................... cm2

(Total 3 marks)

C

A B

15 cm

8 cm

Diagram NOT
accurately drawn

112°
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8. Town B is 4.6 km due West of town C.
Town A is 2.3 km due North of town B.

(a) Calculate the size of the angle marked x. 
Give your answer correct to 3 significant figures.

x = ............................ º
(3)

(b) Find the bearing of town C from town A.
Give your answer correct to 3 significant figures.

............................ º
(1)

2.3 km

4.6 km

N

N

CB

A

x

Diagram NOT
accurately drawn

(Total 4 marks)
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9.  

ABC is a right-angled triangle. 
AB = 5 cm, 
BC = 6 cm.

(a)  Work out the area of the triangle.

  ............................. cm2

(2)

(b) Work out the length of AC.
Give your answer correct to 2 decimal places.

  ............................... cm
(3)

Diagram NOT
accurately drawn

5 cm

6 cm

A

B C
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DEF is another right-angled triangle. 
DE = 32 mm,  
FE = 44 mm.

(c) Calculate the size of angle y.
Give your answer correct to 1 decimal place.

  ..................................
°

(3)

(Total 8 marks)

  D
Diagram NOT

accurately drawn 

32 mm 

      y

 F   44 mm    E

Lots more free papers at www.bland.in

http://www.bland.in
http://www.bland.in


10.

ABC is a triangle.
AB = 11 m. 
AC = 9 m. 
BC = 15 m.

Calculate the size of angle BAC.
Give your answer correct to one decimal place.

................................ 
°

(Total 3 marks)

A

Diagram NOT

accurately drawn 

 C 

B
15 m 

9 m
11 m
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11.
E

D

C

19 cm7 cm

48°
A 3 cm B

Diagram NOT
accurately drawn

 AC = 7 cm.
AB = 3 cm.
DE = 19 cm.

Angle ABC = angle CBD = angle BDE = 90°. 
Angle BDC = 48°.

(a) Calculate the length of CD.
Give your answer correct to 3 significant figures.

............................................ cm
(4)

(b) Calculate the length of CE.
Give your answer correct to 3 significant figures.

............................................ cm

(3) 

(Total 7 marks)Lots more free papers at www.bland.in
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12

ABC is a right-angled triangle. 
 AC = 9.6 cm.
BC = 6.4 cm.

Calculate the size of the angle marked x�.
Give your answer correct to 1 decimal place.

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
�

(Total 3 marks)

Diagram NOT 
accurately drawn

A

x�

9.6 cm 6.4 cm

C

B
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